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(1) ab(a+b) —2bc(b—c¢) + ca(2c — a) — 3abc % N RS 2 L LB,

(2) HAREnZ2W<DO0D 1L 20MTERT L TORL HOKRBE aln) &35, 722U, HOEFEEZ &
UAIREILERL &35, HlziE, 4=242, 4=2+1+1, 4=14+14+14+1ThH2»5, a(4) =3
Thd. Zorx, a@ =[] 1 |, a(2014) = Th5.
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(3) ¥ {a,} OWENSEnEETOMS, S, = n—_i_l"ca@éc‘i%, a, = , kgla_k =
Thb.

(D O0<O<TET3. sin0+cosO=tLTaE, tDLY>BEOREL <i< <H,
sin@ + cos 0 + 2sin 20 OEAfEE [ 7 |, BuMEIE Thb.

(5) logy64 = Thd. £/, 2 | TRVEDOHE 5L X, log a2 —1og,64 < 1% AT x DHi
EIES <H%.

6) f(x)=sin2z 2 F2L¥E, f(x)= Thd. i, fo?SiDZZ.TCOSZ.I‘dI: Ths.




